Special Types of Numbers-Questions
Key Stage 3: 2003 Paper 1 Level 3-5
1.
[image: Text

Description automatically generated]
Key Stage 3: 2003 Paper 1 Level 4-6
2.
[image: Text

Description automatically generated]
Key Stage 3: 2004 Paper 2 Level 3-5
3.
[image: Graphical user interface, text, application, letter

Description automatically generated]
4.
[image: Table

Description automatically generated with medium confidence]
Key Stage 3: 2004 Paper 2 Level 4-6
5.
[image: Table

Description automatically generated]
Key Stage 3: 2006 Paper 1 Level 3-5
6.
[image: Shape, polygon

Description automatically generated]
Key Stage 3: 2006 Paper 1 Level 4-6
7.
[image: Shape, polygon

Description automatically generated]
Key Stage 3: 2008 Paper 1 Level 3-5
8.
[image: Table

Description automatically generated]
Key Stage 3: 2008 Paper 2 Level 3-5
9.
[image: Graphical user interface, text, application, email

Description automatically generated]
10.
[image: Diagram

Description automatically generated]
Key Stage 3: 2008 Paper 1 Level 4-6
11.
[image: Table

Description automatically generated]
Key Stage 3: 2008 Paper 2 Level 4-6
12.
[image: Diagram

Description automatically generated]
Key Stage 3: 2009 Paper 2 Level 3-5
13.
[image: Graphical user interface, application

Description automatically generated]
Key Stage 3: 2009 Paper 1 Level 4-6
14.
[image: Text, letter

Description automatically generated]
Key Stage 3: 2009 Paper 2 Level 4-6
15.
[image: Graphical user interface, application

Description automatically generated]

image7.jpg
On each spinner write five numbers to make the statements correct.

Itis certain that you will get a number less than 6

\

Itis more likely that you will get an even number than an odd number.

\

Itis impossible that you wil get a multiple of 3

\
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14. (a) Henry thinks of a number between 1 and 20

He thinks of the number 12

For each question below, tick (') Yes or No for Henry’s number.

Yes No

\ Is it an even number?

Is it a multiple of 37
Is it a factor of 187

(b) Ashraf also thinks of a number between 1 and 20
The table shows information about his number.

What is Ashraf's number?
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James says:

‘ Adding two odd numbers always gives an odd number answer.

Give an example to show that James is wrong.

\
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(b)

A famous mathematician claimed that:

Every even number greater than 4 can be
‘witten as the sum of a pair of prime numbers.

For example: 8 can be written as the sum of 3 and 5, and
3 and 5 are both prime numbers.

Write a pair of prime numbers that sum to 16

\

— and

Now write a different pair of prime numbers that sum to 16

\

—_—and

Now choose an even number that is greater than 16,
then write a pair of prime numbers that sum to your even number.

Complete the sentence below.

The even number _____ can be written as

the sum of the prime numbers _and __
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7. (a) Henry thinks of a number between 1 and 20
He thinks of the number 12

For each question below, tick (v) Yes or No for Henry's number.

\

(b) Ashraf also thinks of a number between 1 and 20
The table shows information about his number.

‘What is Ashraf’'s number?
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(b)

A famous mathematician claimed that:

Every even number greater than 4 can be
written as the sum of a pair of prime numbers.

Forexample: 8 can be written as the sum of 3 and 5, and
3and 5 are both prime numbers.

Write a pair of prime numbers that sum to 16

N\

—_and

Now write a different pair of prime numbers that sum to 16

N\

—_and

Now choose an even number that is greater than 16,

then write a pair of prime numbers that sum to your even number.
Complete the sentence below.

\

The even number can be written as

and

the sum of the prime numbers
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18.  Dansays:
‘Al factors of 70 are even numbers.’

Is he correct?

\ Yes No

Explain your answer.

\
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26, Inthis question, n stands for any whole number.

(@ For the expression 2n, tick (v) the correct statement below.

\

2n must be odd.

2n must be even.

2n could be odd or even.

Explain your answer.

\

(b) For the expression 3, tick (v) the correct statement below.

\

3n must be odd.

3n must be even,

3n could be odd or even.

Explain your answer.

\
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Dan says:
“All factors of 70 are even numbers.”

Is he comrect?

Explain your answer.
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A teacher has five number cards.
She says:

I am going to take a card at random.

Each card shows a different positive whole number.

Itis certain that the card will show a number less than 10

Itis impossible that the card will show an even number.’

What numbers are on the cards?

\





image2.jpg
A teacher has five number cards.
She says:

‘I am going to take a card at random.

Each card shows a different positive whole number.

Itis certain that the card will show a number less than 10

Itis impossible that the card will show an even number.’

What numbers are on the cards?

\
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6. (a) Anna says:

Multiply any number by three.
The answer must be an odd number.

Give an example to show that Anna is wrong.

(b) Jay says:

Divide any even number by two.
The answer must be an odd number.

\ Give an example to show that Jay is wrong.
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10. I have some 5p coins and some 2p coins.

5p coins 2p coins

I can use some of my coins to make 27p.

(a) Complete the table to show different ways to make 27p.

The first way is done for you.

Ways to make 27p

Use five 5p coins and 2p coin.

\ Use three 5p coins and 2p coins.
e

Use one 5pcoin and 2p coins.

+ mank

(b) 1 cannot make 27p from 5p coins and 2p coins using
an even number of Bp coins.

Explain why not.

\
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3.

I have some 5p coins and some 2p coins.

5p coins 2p coins

I can use some of my coins to make 27p.

(a) Complete the table to show different ways to make 27p.

The first way is done for you.

Ways to make 27p

Use five 5p coins and one 2p coin.
N Gse thee 5p coins and 2p coins.
Use one 5pcoin and 2p coins.

(b) 1 cannot make 27p from 5p coins and 2p coins using
an even number of 5p coins.

Explain why not.

\
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On each spinner write five numbers to make the statements correct.

Itis certain that you will get a number less than 6

\

il

Itis more likely that you will get an even number than an odd number.

\

Itis impossible that you will get a multiple of 3

\




